IO TOEBILY,

MB2152 - Installation Instructions JL Front Seat Mount

JL/JLU FRONT SEAT MOUNT

2018-CURRENT

INSTALLATION INSTRUCTIONS

motobilt.com | 334-219-2333



IO TOEBILY,

MB2152 - Installation Instructions JL Front Seat Mount

MB2152-04
Qty: 4

MB2152-03 C ~ MB2152-05
Qty: 1 MB2152-03_MIR Qty: 2

Qty: 1

0

HEX BOLT FLAT WASHER NYLOCK NUT FLAT WASHER
3/8"-16 x 1" GR8 3/8" 3/8"-16 GR8
Qty: 16 Qty: 32 Qty: 16

SEAT SLIDER KIT

CARRIAGE BOLT
5/16"-18 x 1"
Qty: 4

SEAT SLIDER
Qty: 1
NYLOCK NUT
5/16"-18
Qty: 8

motobilt.com | 334-219-2333



IO TOEBILY,

MB2152 - Installation Instructions JL Front Seat Mount

SEAT MOUNTING DIMENSIONS

motobilt.com | 334-219-2333



IO TOEBILY,

MB2152 - Installation Instructions JL Front Seat Mount

SEAT SLIDER 02

SEAT SLIDER 01

MB2152-03

\ iy FLAT WASHER ' MB2152-02
< —>) R
0 vocknor /1

FLAT WASHER FLAT WASHER
s is 5/16"-18 5/16"
NYLOCK NUT

5/16"-18 FLAT WASHER NYLOCK l\iUT t
5/16" | 5/16"-18

NYLOCK NUT
5/16"-18 t

motobilt.com | 334-219-2333




o IO TOEBIL T4 REV: 0

MB2152 - Installation Instructions JL Front Seat Mount

USE FACTORY SEAT BOLTS IN

THE FACTORY LOCATION '

MB2152-03

MB2152-02

USE FACTORY SEAT BOLTS IN
THE FACTORY LOCATION

5 motobilt.com | 334-219-2333



IO TOEBIL Y,

MB2152 - Installation Instructions JL Front Seat Mount

SEAT SLIDER LEVER

THREAD WIRE THROUGH HOLE

SEAT SLIDER
CONNECTOR WIRE

THREAD WIRE THROUGH HOLE

SEAT SLIDER 2

motobilt.com | 334-219-2333




IO TOEBILY,

MB2152 - Installation Instructions JL Front Seat Mount

CARRIAGE BOLT
5/16"-18

SEAT SLIDER 01

CARRIAGE BOLT
5/16"-18

SEAT SLIDER 02

SEAT SLIDER 01

SEAT SLIDER 02

motobilt.com | 334-219-2333



IO TOEBILY,

MB2152 - Installation Instructions JL Front Seat Mount

MB2152-01_MIR

NYLOCK NUT
5/16"-18 NYLOCK NUT

FLAT WASHER 5/16"-18
5/16" ! FLAT WASHER

MB2152-05

MB2152-01

!

) - BF<q) CARRIAGE BOLT
5/16"-18

SEAT SLIDER 01 SEAT SLIDER 02

CARRIAGE BOLT
5/16"-18

motobilt.com | 334-219-2333




IO TOEBILY,

MB2152 - Installation Instructions JL Front Seat Mount

MB2152-01

CARRIAGE BOLT
5/16"-18

CARRIAGE BOLT
5/16"-18

MB2152-01_MIR

DETAIL A

CARRIAGE BOLT
5/16"-18

MB2152-01

REPEAT ON OPPOSITE SIDE

motobilt.com | 334-219-2333



IO TOEBILY,

MB2152 - Installation Instructions JL Front Seat Mount

NYLOCK NUT
5/16"-18

FLAT WASHER T
NYLOCK NUT 5/16" : MB2152-01_MIR
5/16"-18 '

FLAT WASHER CARRIAGE BOLT

MB2152-01 5/16" 5/16"-18

CARRIAGE BOLT

motobilt.com | 334-219-2333




IO TOEBILY,

MB2152 - Installation Instructions JL Front Seat Mount

MB2152-04

177/8
C/C SEAT MOUNTS

2
| SEAT RISE |

REPOSITION THIS BOLT TO
RAISE THE BACK OF THE SEAT

EIGHT (8) HEX BOLT
3/8"-16 x 1 GR8

SIXTEEN (16) FLAT WASHER
3/8"

MB2152-04 2 ) =
(OPTIONAL SEAT RISER) EIGHT (8) NYLOCK NUT
3/8"-16

MB2152-01

MB2152-01_MIR

MB2152-04
(OPTIONAL SEAT RISER)

OPTIONAL SEAT RISER

SEAT CAN BE MOUNTED TO MB2152-01 OR M2152-04
DEPENDING ON THE HEIGHT OF THE DRIVER.

motobilt.com | 334-219-2333




